



EXERCISE 9.4:

Show that the convolution of two exponential signals, $x(t) = e^{-at}u(t)$ and $h(t) = e^{-bt}u(t)$, is

$$y(t) = x(t) * h(t) = \frac{1}{b-a} (e^{-at}u(t) - e^{-bt}u(t))$$

if $a \neq b$



$$x(t) * h(t) = \int_{-\infty}^{\infty} e^{-a\tau} u(\tau) e^{-b(t-\tau)} u(t-\tau) d\tau$$

Since $u(\tau) = 0$ for $\tau < 0$ and $u(t-\tau) = 0$ for $\tau > t$, the limits on the integral become 0 and t .

$$x(t) * h(t) = \int_0^t e^{-a\tau} e^{-b(t-\tau)} d\tau \quad (\text{if } t \geq 0)$$

$$= \int_0^t e^{-bt} e^{(b-a)\tau} d\tau \quad (a \neq b)$$

$$= e^{-bt} \frac{e^{(b-a)\tau}}{(b-a)} \Big|_0^t$$

$$= \frac{e^{-bt}}{b-a} (e^{(b-a)t} - 1) = \frac{e^{-at} - e^{-bt}}{b-a}$$

If $t < 0$, then $u(t)u(t-\tau) = 0$ and the convolution integral is zero. Thus,

$$x(t) * h(t) = \frac{1}{b-a} (e^{-at} - e^{-bt}) u(t)$$

because $u(t) = 0$ when $t < 0$.